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(a) (5 47) BHEA ternary if EigE

a = int(input )
if a > 0:

print (a)
else:

print (-a)
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a = int (input ())

while a != 1:
if a ) 2 ==
a=3x*a+1
else:
a //= 2

print(a, end = " ")
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a = int(input("base demand = "))

= int (input("price semnsitivity = "))
¢ = int(input("unit cost = "))
maxProfit = 0
optimalPrice = 0

for p in range(c + 1, a // b):
profit = (a - b * p) * (p - ¢)

if profit > maxProfit:

maxProfit = profit

optimalPrice = p
print ("optimal price = " + str(optimalPrice))
print ("maximized profit = " + str(maxProfit))
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